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APKKOCHUHYCOM YHUCJIA ¢ HA3BIBACTCA

Takoe 4ucio (yron) £ u3 [0:x], uro
Ccost =a.

[Tpuuém, | @ [< 1.

arccos(- @) = m- arccos a

[Ipumepsr: | Darccos(-1) | =m
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APKCHHYCOM YHCJIA ¢ HA3BIBACTCS

Takoe 4yucio (yrona) twus [-m/2;m/2],
4yTo Sint = a.

[Tpuuéwm, | a [< 1.

a9 —— arcsin a =t
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Y arcsin(- a) arcsin(- @)= - arcsin a
[pymepbl; 1 ]
1) arcsin— = & 3)arcsin0 J= 0
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2)arcsin m |5 _Z
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APKTaHT€HCOM YHUCIA ¢ HA3BIBACTCS
TAKO€ 4YuCjo (yron) f u3 (-n/2:m/2),
yro Igt=a.
[Tpuuém, a € R.

arctg(-a) = - arctg a

D) arctg(-1)= | | -/
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™~ Ya APKKOTAaHT€HCOM YHCJIA ¢ HA3bIBACTCSA
Takoe 4yucio (yroxa) t u3 (0;m),
yTo cligit = a.
[Tpuuém, a €R .

a

arcctg(- a) arcctg a =t

arcctg(- a) = w — arcctg a

[ Ipumepsr:

Darcetg(-1)= |34 2) arcetg\3 = | [ w6 |
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arcsin (-a) = - arcsin a

arctg (-a) = - arctg a
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ONpeAesaTh 10 BBIJICICHHOM 4YacTh TabOiauipl. B cBoux Tabmuiax
TOKE BBIJCIIUTE IAHHYIO 00JIacTh.
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